Grid points: 1, D=0.0, r2=0




Grid points: 2, D=1.0, r’=1/4




Grid points: 4, D=1.414213562, r?=1/2




Grid points: 5, D=2.0, r=1




Grid points: 6, D=2.236067977, r’=5/4




Grid points: 7, D=2.5, r2=25/16




Grid points: 9, D=2.828427125, r2=2




Grid points: 12, D=3.162277660, r2=5/2




Grid points

13, D=3.676955262, r’=169/50




Grid points: 14, D=3.800584750, r2=65/18




Grid points: 16, D=4.123105626, r2=17/4




Grid points: 17, D=4.333333333, r’=169/36




Grid points: 21, D=4.472135955, r2=5




Grid points: 22, D=5.0, r2=25/4




Grid points: 24, D=5.099019514, r2=13/2




Grid points: 26, D=5.385164807, r2=29/4




Grid points

: 27, D=5.532577906, r2=5525/722




Grid points

: 28, D=5.590169944, r2=125/16




Grid points: 32, D=5.830951895, r2=17/2




Grid points: 33, D=6.203224968, r’=481/50




Grid points: 37, D=6.324555320, r2=10




Grid points: 38, D=6.708203932, r’=45/4




Grid points: 39, D=6.749485577, r2=205/18




Grid points: 40, D=6.848279335, r=19721/1682




Grid points: 41, D=6.896375860, r’=1189/100




Grid points: 44, D=7.071067812, r2=25/2




Grid points: 45, D=7.211102551, r?=13




Grid points: 46, D=7.353910524, r2=338/25




Grid points: 47, D=7.388597176, r2=29725/2178




Grid points: 48, D=7.467261881, r2=697/50




Grid points: 52, D=7.615773106, r2=29/2




Grid points: 56, D=8.062257748, r2=65/4




Grid points: 57, D=8.246211251, r2=17




Grid points: 58, D=8.310385069, r’=1105/64




Grid points: 59, D=8.384874623, r2=3445/196




Grid points: 61, D=8.485281374, r2=18




Grid points: 62, 8.57923689993, r=4453/242




Grid points: 63, D=8.665289147, r2=40885/2178




Grid points: 64, D=8.743356392, r2=4625/242




Grid points: 65, D=8.772684880, r2=481/25




Grid points: 69, D=8.944271910, r2=20




Grid points: 70, D=9.219544457, r2=85/4




Grid points: 71, D=9.302676625, r2=12505/578




Grid points: 72, D=9.313146293, r2=2125/98




Grid points: 73, D=9.428090416, r2=200/9




Grid points: 74, D=9.433981132, r2=89/4




Grid points: 76, D=9.486832981, r2=45/2




Grid points: 77, D=9.681923619, r2=7921/338




Grid points: 78, D=9.718253158, r2=425/18




Grid points: 79, D=9.851520735, r2=89725/3698




Grid points: 80, D=9.886188981, r=93925/3844




Grid points: 81, D=9.907737648, r2=2405/98




Grid points: 82, D=10.03056553, r’=2465/98




